SANITARY

VALVES

General

Floating Ball

ASMEBEEERRIecE ...............c............. 257
3PicCE o ........................ 263

ASME B k 3 Piece ... 269

L

SANITARY VALVES | FBDHABONIM | 253




SANITARY VALVES

General

lgl Habonim'’s Sanitary product line valves are subject to the general Habonim valves design,
materials, practices, methodologies and certifications — for more information, see Valves
General chapter.

Habonim Sanitary valves are equipped (in some series) with the Total HermetiX integrity
package for superior sealing, safety and environmental care.

Sanitary Valve

Habonim'’s line of Sanitary ball valves for the pharmaceutical, bioprocessing, food and beverage
industries is in wide use in leading production and research facilities.

Features

Materials
« FDA and USP Class VI compliant polymers or elastomers are used in the series.

« Controlled ferrite cast or forged bar materials are used and polished (in some series) to
avoid rouging on austenitic stainless-steel surfaces and corrosion attack on welding areas.

« Electro-polished surface finishes are available upon request for some series.

» EC 1935 - as an option

Design
« Purge and drain ports are available upon request to facilitate CIP/SIP operation.

« Diverter and various multiport configurations are available upon request.

Reference standards
» 48 and R48 series valves are designed and tested according to ASME BPE standard.

» EC 1935 compliance — as an option.

254 | KDHABOMM | SANITARY VALVES




Quick Selection Table

&) Total Hermetix™ |  Port: Standard Port @ Full Port OTube Size. | EndConnections: () Threaded Flanged (D) Welded
Ordring Code

‘ Valve Size (Inches)
‘ HBaIIVaIveHDesignType HECHSeries “Port HEndCon. H‘/4 ‘3/8 ‘1/2 ‘% ‘1 ‘1% ‘11/2 ‘2 ‘21/2 ‘3 ‘4 ‘6 ‘
Floating || 3 Piece |48 ] 300

Ball Ol &0

Y47

®| O &0

Flush tank R48

Temperature: -60°C -
+260°C (-76 °F + +500 °F)

ASME Class 150| 300| 600| 900| 1500| 2500| 6000

Pressure Bar -1 0 16 20 50 100 150 250 400, 1000
Pressure psi -14 0 290 290| 725| 1450 2175| 3600, 5800 15000

Polishing and Electro-polishing (for 48 / 48R Series)

To minimize contamination and to avoid corrosion/rouging problems, inner surfaces which
come into direct or indirect contact with the flow media are polished and, upon request,

electro-polished.

For cast/forged valves the body, ball, seat retainer (2" size and above) and the end connections
are polished internally. For bar stock valves, additional polishing is carried out the body and
end connections outer surfaces.

When requested, electro-polishing is carried out on the body, ball, seat retainer (2" size and
above) and end connections.

The standard line polishing level is 0.625 u-m (25 p-in) Ra max. Higher levels of surface finish up
to 0.375 p-m (15 p-in) Ra max are available, including internal and external electro-polishing.

Habonim does not use Animal Derived Ingredients (ADI's) in its surface finishing processes.

Ra Reading for Metallic Contact Surfaces Mechanically Polished and Electropolished

ASME BPE Surface LELLOINEASME BPE Surface Habonim
designation F2YPR designation win, u-m Code
SF1 20 0.51 G32 SF4 15 0.38 E32

SF2* 25 0.64 G24 SF5 20 0.51 E24
SF6 25 0.64 E18

* SF2 s the 48/R48 series standard surface finish,
no need to add 'G24' suffix

SANITARY VALVES | €EDHABONIM | 255




SANITARY VALVES

Cleaning and Assembling

Habonim'’s cleaning, assembly and inspection procedure for the Sanitary line ensures the cleanliness
required by Bioprocessing, Pharmaceutical or Oxygen services.

Habonim uses a state of the art, environmentally friendly, alkaline-based automatic degreasing
system with multiple stages of cleaning, rinsing and drying chambers to ensure that particles,
grease, metal chips and other contamination hazards that can be introduced by a poor deburring
process or shop dirt are removed thoroughly before the assembly process begins. Upon completion
of the cleaning process, the valves are assembled in an oil free restricted area by qualified personnel
who are specially trained to perform this task. The employees wear clean working clothes and latex
gloves throughout the procedure. The equipment and tools are cleaned before use and the work
surfaces are covered with a clean polyethylene sheet before performing the valve assembly.

Durable polymer anti-abrasion ring

HermetiX™ TFM stem seal

Durable polymer thrust seal

FDA approved material seats and seals

Sanitary clamp end

Castings or forgings are applicable to ASME BPE standards and ISO 1127

End-to-End continuous and identical bore diameter

SF2 - Standard internal polishing level of 0.625 u-m (25 p-in) Ra max

Austenitic materials with controlled Sulfur 0.005% < S < 0.017 %

Extended ends for orbital welding

Austenitic forged material with Ferrite below 1%.

Austenitic cast materials with controled ferrite.

256 | (EDHABONIM | SANITARY VALVES




W
L}

Sanitary Valves

FLOATING BALL

ASME BPE
3 PIECE

U




11"174" | DN15-DN40 | ANSI CLASS 300

ASME BPE Floating Ball 3 Piece

Valve dimensions

| S |
|
1
H
D K —1
c _
q
YT
OD IDj=m—=—=—- - -—-—+-— R
[
T F- -
B —= Preparation
for actuation
A-TC
A-ETO

1 % 1" - 11"
without nut with nut

oW T . (PHABONIM ) .
M & Stem flats
N show valve
\I_I ball position
TxL thread
FPCD N thread

i - - Weight

ID |AETO XL kg/gl‘b
DUIEN mm | 1270 9.40/13700 8900 2060 2900 3800 6160 415015000 4575 2520 554y | 665 (F03) 3600 | 0% 8
VA inch 050 037 539 350 081 114 150 242 163 591 180 099 022 UNF | 026 142 2000 9
LUPIN mm | 1905 15.75/147.00/10200) 2460 3600 4500 6790 4390|1500 5210 2520 554 ¥ | 665 (F03) 3600 |\ . | 100 29
70 inch 075 062 579 400 097 142 177 267 173 591 205 099 022 UNF | 026 142 210 34
LIPEN mm | 2540 2210/16800 11800 3550 4350, 6100 8480 439018700 6045 5040 754 74g' | 740 (FO4) 4200 | 170, 3
O inch 100 087 661 465 140 171 241 334 173 736 238/ 198 030 UNF | 029 1.65 380 62
DI mm | 3810 3480 18600 14100 5000 5550/ 8500/107.10 440023600 7915 5040 871 ©i¢' | 850 (FO5) 5000 | 350 150
WA inch 150 137 731 557 197 219 335 422/ 173 929 312 198 034 UNF | 033 1.97 770 175

258 | (EDHABONIM | SANITARY VALVES




11"174" | DN15-DN40 | ANSI CLASS 300

Components & materials

Item | Description

Body

Material specification

Acc. Ordering Code

Ends

Acc. Ordering Code

Ball

Acc. Ordering Code

Stem

Acc. Ordering Code

Seat

Acc. Ordering Code

Body inner seal

PTFE

Item

11
12
13
14
15
16
17
18
19
20
21

Description

Disc spring

S. Steel

Material specification

Stem nut S. Steel
Locking clip S. Steel
Handle S. Steel

Serrated washer | S. Steel

Handle nut S. Steel
Sleeve PVC

Body bolt S. Steel
Body nut S. Steel

Anti-static spring  |S. Steel

110,84 Slide bearing

Body outer seal Acc. Ordering Code
Stem thrust seal | Virgin PEEK
Anti-abrasion ring | Virgin PEEK
Stop pin S. Steel
Stem seal TFM
Follower S. Steel

S. Steel

[ DU N DU DU DN NS T ST NS T PN N i N U N

Anti-static plunger |S. Steel

i3 Tag (not shown)

S. Steel

JR UEN N NU  NG U N DU P PRI BN NS )

¥ Repair kit components

SANITARY VALVES | FEDHABONIM | 259




ZFS 2"-6" | DN50-DN150 | ANSICLASS 300

ASME BPE Floating Ball 3 Piece

Valve dimensions

Preparation
fpr actuation

Stem grooves
show valve
. M ball position s,

N thread -- N thread -

DD Square

. B HABONIM )
k

™

OD | ID |AETO|ATC| B

50.80| 47.50/223.00/184.00| 72.70/ 70.00/112.10/143.10 256.00/108.00 64.20 - (FO7)
M20x2.5 M8X12

inch 200 187 877 723 286 276 441 563 177 1008 425 253 - 0.55 0.57 2.76 2080, 480

mm  63.50 60.20250.40169.10 83.35/ 98.30/144.90/185.10| 57.20/401.00 153.10| 77.40| 1890 1590 1"-14 |16.70 (F10)102.00 M10X20 1370, 581
inch 250, 237/ 1000 666 328 387 570 729 225 1579 603 305 074 063 UNS2A | 066 4.02 3030, 680

mm  76.20) 72.90/302.00/193.00 96.40/105.50/152.20 19240 70.00/401.00 172.80| 90.90| 1890 1590/ 1"-14 | 16.70| (F10)102.00 M10X20 17.70| 748
inch 300 287 1190 760 380 415 599 757 275 1579/ 680 358 074 063 UNS2A | 066 4.02 39.10/ 875

mm 101.60 97.38/317.501236.20 123.00/124.00/170.60 21080 61.00/619.00 216.80/118.90| 1890 1590/ 1"-14 | 16.70 (F10) 102.00 M10X20 31.30) 1333
inch 400 383 1250 930 484 488 671 830 240 2437 854 468 074 063 UNS-2A | 066 4.02 69.20| 1560

mm 152.40/146.86/460.00328.00 180.00179.00/248.50303.00 82.00/916.50 326.80/166.50 28.45 23.75 114"-12 | 26.20| (F12) 125.00 M12X00 7800/ 3218
X
inch 600 578 1811 1291 709 705 978 11.93 323 3608 1287 656 1.12 094 UNF-1A | 103 492 172.00| 3765

260 | (EDHABONIM | SANITARY VALVES




B8 26" | DN50-DN150 | ANSI CLASS 300 IIII

ASME BPE Floating Ball 3 Piece

Components & materials

Item | Description

Body

14 14B 16 17

68

Acc. Ordering Code

Material specification

Ends

Acc. Ordering Code

Ball

Acc. Ordering Code

Stem

Acc. Ordering Code

Seat

Acc. Ordering Code

Bodly seal

PTFE

10,8 Slide bearing

Support ring S. Steel
Body outer seal Acc. Ordering Code
Stem thrust seal | Virgin PEEK
Anti-abrasion ring | Virgin PEEK
Stop pin S. Steel
Stem seal TFM
Follower S. Steel
S. Steel

PR G N O U i N T P i NG T I NG Y P S i N S SN

Item

11
12
13
14
14A
14B
16
17
18
19
20
21
23

Description

Disc spring

S. Steel

Material specification

2
Stem nut S. Steel 1
Tab lock washer |5, Steel 1
Handle S. Steel 1
Stop plate S. Steel 1
Wrench head S. Steel 1
Wrench bolt S. Steel 1
Sleeve PVC 1
Body bolt S. Steel 8-12
Body nut S. Steel 8-12
Anti-static spring  |S. Steel 1
Anti-static plunger |S. Steel 1
Tag (not shown)  |S. Steel 1

¥ Repair kit components

SANITARY VALVES | K‘BHABOMM | 261




W
ey

ASME BPE Floating Ball 3 Piece - Ordering Code System

"Mandatory option" options are marked with [gréen background! light green background
12 3 45 6 7 9 10 M 12 13 14 15 16 17 1819 20 21 222324 25 26 . 30
Cfof CICIIMF] [al[e] e 1 -6 J["6 [ 6 J[ 6 NN T 4 3 o [
T N

8
8] A
\ / \ ) \ ) \ J \ ) \ ) A\ -— J

Design Body/End material il Ball/Stem material Seat Inner Seal Jl Outer Seal End Connection Special features

Size (1-2)
Code| inch

Features (3-6) Ball material (13)
ASTM A479 S. Steel316L Welded

ALLOY-C22 Extended tube OD

End connections (19-23)

Fire Safe

Diverter, Bottom entry

Diverter, Side entry Stem material (14)

ASTM A479 S. Steel316L

Series (7-8) ALLOY-C22
48 Seat material (15)
Design (9) A TFM
G

Virgin PEEK
Body/Ends material (11-12)
CF3M
S.St. 316L Forged
S. St. EN10222-5 Forged
ALLOY-C22

Tri-Clamp

Special Features (24-30)
ASME BPE surface designation SF1 -
Internal polishing level of 0.51 p-m,
20 p-in Ra max.
ASME BPE surface designation SF5 -
Internal polishing & EP level of 0.51
p-m, 20 p-in Ra max.
ASME BPE surface designation SF4 -
Internal polishing & EP level of 0.38
p-m, 15 p-in Ra max.
Valve made from rolled bar

Inner Seal Material (16)
TFM |

TFM

262 | FBDHABONIM | SANITARY VALVES




m
Y47 8

Sanitary Valves

FLOATING BALL

3 PIECE

ol

L?i_ —_Ij_i—




5"-2" | DN8-DN50 | ANSI CLASS 900

1ISO 1127/ DIN 11850 Floating Ball 3 Piece

Valve dimensions

| ° |
i
H
D K —
c _
q
YT
oD IDf=-—-—-—- - -—-—-— R
y A
@ f Preparation
i - for actuation
s
A-TCI/ A-TCD
A-ETI / A-ETD

% &2 172"
without nut with nut

oW T T M 2" a Stem flats
< show valve
\I_I ball position
ExFl;CtBread N thread
1SO 1127 Tube Sized

Pipe
oD
DIREEE mm | 14300 14.000 1720/ 146.50/ 101.50. 24.50. 31.40/ 4030/ 63.90/150.00/ 53.70/ 5.54

Std. port Unit

AETI ATCI| B

665 (FO3) | 36.00 080/ 10

3
%" inch 056 055 068 576 399 097 124 159 252 591 211 022 7 UNF 026 142 MX10 55995
PIEERN mm 1575 1810 2130 14660 102001 2460 3600 4500 67.90 150001 5210 554 5 o' 665 (FO3)| 3600 pyoyqo 100 29
70BN inch 062 071 084 577 400 097 142 177, 267 591 205 022 % 0.26 142 210 34
DIPIM mm. 2210 2370 2690 1678 118001 3550 4350 6100, 8480/ 18700 6045 754 5 o | 740 (FO4)| 4200 pyeyyo | 170, 53
0B inch 087 093] 106 660 465 140 171 241 334 736 238 030 * 029 165 380 62
DIPERN mm. 2540 2070 3370 17930 13370, 41.30/ 4270 6020 841018700 71.70 754 | 740 (FO4)| 4200 yjevo | 250 49
1 inch 100 117, 133 705 526 162 168 237 331 736 282 030 0.29 165 553 57

BINEPES mm | 3810/ 3840 4240 20030 15890/ 56.30 48.30/ 77.80/101.80/237.00. 96.90| 8.71 76 UNF 850! (FO5) | 50.00 Mexi2 450 102
1" inch  1.50/ 151 167/ 788 625 222/ 190/ 306 401 933 382 034 033 1.97 995/ 118
DIEOES mm | 38100 4430 4830/ 200.30 15890/ 56.30 48.30/ 77.80/101.80/237.00 96.90| 8.71 96 UNF 850! (FO5) | 50.00 Mexi2 | 450 102
1%" inch  1.50/ 174, 190 788 625 222/ 190/ 306 401 933 382 034 033 1.97 995/ 118
DIEDES mm | 5080 56.300 60.30)232.60 213.00/ 72.60 70.00/ 88.10/ 115.10/237.00/ 108.00 8.71 96 UNF 13.50! (FO7) | 70.00 Maxi2 2200 208
2" inch! 2000 222/ 237/ 915 838 286/ 276/ 347/ 453/ 933 425 034 0.53 2.76 21.000 241

Ball | Pipe | Pipe
port | ID oD

AETD ATCD

BLROES mm | 11.15/ 1000 13.00/ 140,60/ 88.80. 20.60/ 29.00/ 379 61.50/150.00/ 47.00| 5.54 ¥ UNF 6.65 (FO3) | 36.00 M5X10 060/ 26
3" inch 044 039 051/ 553 649 081 1.14/ 149 242 591 185 022 0.26 142 133/ 30
IR mm | 15.75) 16000 19.00/ 146,60/ 102.00. 24.60/ 36.00/ 4500 67.90/150.00/ 52.10| 5.54 3% UNF 6.65 (FO3) | 36.00 M5X10 1.00/ 29
%" inch 062/ 063 075 577 400 097 142 177 267 591 205 022 " 0.26 142 210 34
BLPLES mm 2060/ 20000 23.00/ 164.10/ 114300 31.70| 3810/ 55.60. 79.40/187.00/ 63.70| 7.54 3% UNF 740 (FO4) | 42.00 M5X10 160/ 28
3" inch 0811 079 091 646 4500 125 150/ 219 313/ 736 251 030 " 0.29 1.65 354 32
IPEEE mm | 2540/ 2600 29.00/ 17930/ 133.70. 41.30| 42.70| 60.20. 84.10/187.00| 71.70| 7.54 76 UNF 740! (FO4) | 42.00 Msx10 | 220 49
1" inch  1.00/ 1.02/ 114/ 705 526/ 162/ 168 237/ 331 736/ 282 030 0.29 1.65 553 57

INEPES mm | 31.80) 3200 35.00 18940 139.70| 4840 43.60/ 73.00/ 97.00/237.00 86.70 8.71 76 UNF 850! (FO5) | 50.00 Mexio 360 69
1" inch 125 126/ 138/ 745 550 191/ 172/ 287 382 933 341 034 033 1.97 796 80
IEOES mm | 38100 38.000 41.00/ 20030 15890/ 56.30 48.30/ 77.80/101.80/237.00. 96.90| 8.71 96 UNF 850! (FO5) | 50.00 Mexi2 450 102
1%" inch  1.50/ 150 161/ 788 625 222/ 190/ 306 401 933 382 034 033 1.97 995/ 118
IEDES mm | 5080 50.00 53.00/232.60 213.00/ 72.60 70.00/ 88.10/ 115.10/237.00/ 108.00| 8.71 96 UNF 13.50! (FO7) | 70.00 Max12 2200 208
2" inch! 2000 197/ 209/ 915 838 286/ 276/ 347/ 453/ 933] 425 034 0.53 2.76 21.000 241

264 | KDHABOMM | SANITARY VALVES




#:"-2" | DN8-DN50 | ANSI CLASS 900 HHH

1ISO 1127/ DIN 11850 Floating Ball 3 Piece

Components & materials

Item | Description Material specification Item | Description Material specification

S. Steel

Body Acc. Ordering Code 1108 Slide bearing

1 1
Ends Acc. Ordering Code 2 Disc spring S. Steel 2
Ball Acc. Ordering Code 1 Stem nut S. Steel 1
Stem Acc. Ordering Code 1 Locking clip S. Steel 1
Seat Acc. Ordering Code 2 Handle S. Steel 1
Inner seal PTFE 2 Serrated washer | S. Steel 1
Outer seal Acc. Ordering Code 2 Handle nut S. Steel 1
Stem thrust seal | VIRGIN PEEK, PCTFE 1 Sleeve PVC 1
Anti-abrasion ring | VIRGIN PEEK, PCTFE 1 Body bolt S. Steel 8
1 1
1 1
1 1

Stop pin S. Steel Anti-static spring | S. Steel
Stem seal CF PTFE, TFM Anti-static plunger |S. Steel
Follower S. Steel Tag (not shown)  |S. Steel

¥ Repair kit components

SANITARY VALVES | FEDHABONIM | 265




215"-4" | DN65-DN100 | ANSI CLASS 400

1ISO 1127/ DIN 11850 Floating Ball 3 Piece

Valve dimensions

Preparation
for actuation

PN

Stem groove
shows valve
ball position -

—  ATCI/ATCD —— !
-~ AFTI/AED ————— N

N thread -

Square

oW—-—6-—-"—-"—-"— - © e ¢ HABONIM )2

1SO 1127 Tube Sized

Ball | Pipe | Pipe ' Weight, Kv

port| ID | OD AETI|ATCI w M M-DD| N TxL ka/lb | cy
DI mm 63.50 72.10) 76.10283.40 215.80| 83.30 98.30/144.90/185.00400.00/140.00/18.90/15.90| 1"-14 [16.70/22.70 (F10) 102.00 MI10X20 13.70] 300
21" inch. 250 284/ 300 1157 849 328 387 571 729 1575 550 0.74 063/UNS-2A 066 0.89 4.02 30.30| 348
DIEDEE mm 82.60 84.30) 88.90319.80/245.40/108.80/114.10/160.70/200.00 600.00/177.00/18.90/15.90| 1"-14 |16.70/22.70 (F10) 102.00 M10X20 23.70/ 615
3" inch 325 332/ 350 1259 966 428 449 633 789 2362 697 074 063 UNS2A 066 0.89 4.02 5240713
1\NI00F mm 100.00/109.701114.301390.00 268.80/123.00/124.00/170.50/211.00/600.00217.00/18.90/ 15.90| 1"-14 [16.70/22.70 (F10) 102.00 M10X20 30.00| 744
4" inch 394 432 450 1535 1058 484 488 671 830 2362 854 074 063 UNS-2A 066 089 4.02 66.30 863

Ball | Pipe | Pipe
port| ID | OD

L mm 63.50] 66.00) 70.001283.40215.80 83.30| 98.30/144.90185.00/400.00/140.00(18.90/15.90| 1"-14 |16.70/22.70 (F10)102.00 13.701 300

AETDATCD, B

M10X20
PAZAERNinch 2500 260 276 1157 849 328 387 571 729 1575 550 074 0.63/UNS-2A| 066 0.89 4.02 30.30| 348

LD mm 82.60) 81.00) 85.00/348.80245.40/108.80/114.10/160.70 200.00/600.00/177.00(18.90/15.90| 1"-14 [16.70/22.70/ (F10)102.00 M10X20 2370|615
3" inch 325 319 335 1373] 966/ 428 449 633 789 2362 697 074 063 UNS-2A 066 0.89 4.02 5240 713

L0 mm 100.00/100.00/104.00/390.00/268.80/123.00/124.00/170.50211.00/600.00 217.00{18.90/ 15.90| 1"-14 |16.70/22.70 (F10)102.00 M10X20 30.00) 744
4" inch 394 394 409 1535 1058 484 483 671 830 2362 854 074 063/UNS2A 066 0.89 4.02 66.30 863

266 | (EDHABONIM | SANITARY VALVES




215"-4" | DN65-DN100 | ANSI CLASS 400

1ISO 1127/ DIN 11850 Floating Ball 3 Piece

Components & materials

Item | Description Material specification Qty.

Body Acc. Ordering Code
Ends Acc. Ordering Code
Ball Acc. Ordering Code
Stem Acc. Ordering Code
Seat Acc. Ordering Code
Inner seal PTFE

Outer seal Acc. Ordering Code

Support ring

S. Steel

Stem thrust seal

VIRGIN PEEK, PCTFE

Anti-abrasion ring

VIRGIN PEEK, PCTFE

11082 Slide bearing

Stop pin S. Steel
Stem seal CF PTFE, TFM
Follower S. Steel

S. Steel

[ N [P B N I NS T S T NS T RS R NG S

Material specification

S. Steel 2
S. Steel 1
S. Steel 1
S. Steel 1
S. Steel 1
Wrench head S. Steel 1
Wrench bolt S. Steel 1
Sleeve PVC 1
Body bolts S. Steel 8-12
Anti-static spring | S. Steel 2
Anti-static plunger|S. Steel 2
Tag (not shown) |S. Steel 1

¥ Repair kit components

SANITARY VALVES | K‘BHABOMM | 267




m
Y47 i

Floating Ball 3 Piece - Ordering Code System

"Mandatory option" options are marked with [gréen background! light green background

10 12 13 14 15 16 171819 20 21 222324 . . 30

12 3 45 7 9 11
Ofo] I [al[z) [ -6 16 J[ e [l a J[ 7 I c J/[EDI]-CICICIC]
—/ NN A N A Y 2

N
Design Body material Jll Ends material il Ball/Stem material jfliSeat material {l Inner Seal Jll Outer Seal End Connection Special features

Size (1-2)

End Connection (19-22)

Features (3-6) Stem material (14)

Code | inch S. Steel316L Welded
03 Fire safe High Strength S. Steel Extended buttweld 1SO 1127
05 1" 15 Oxygen service Alloy-C22 B574 Extended buttweld DIN 11850
07 W 20 Vacuum service Seat material (15)
10 1" 25 TEM Tri-Clamp for ISO 1127
12 14" 32 High purity Class 10000 Virgin Peek Tri-Clamp for DIN 11850
;(5) ;1/2 :8 I Inner Seal Material (16) Special Features (24-30)
T PTFE P250 Ball with Upstream Relief Hole

25 215" 65 .

Design (9) : SRS Self Relief Seat
30 3" 80 Outer Seal material (17)

Total HermetiX Integrity TEM B Body made from bar stock

40 100 package

EP Electropolished

Jacketed valve - number
of ports(2), type(NPT) and
size(V2")

Expanded graphite

Total HermetiX Integrity
package - FDA compliant

Body material (11)
S. SteelCF8M/CF3M
Hasteloy-C22

Ends material (12)
S. SteelCF8M/CF3M
Hasteloy-C22

268 | FEDHABONIM | SANITARY VALVES




m
R48 o

Sanitary Valves

FLOATING BALL

ASME BPE 1
FLUSH TANK 3 PIECE 1




115"214" | DN15-DN65 | CLASS 300

ASME BPE Flush Tank Floating Ball

Valve dimensions

I
‘ 2 Ball port

TxL thread
FPCD

Preparation
for actuation

o)

e

I

>

o

Z Vo' % & 17 2"

g without nut with nut
- M Stem flats
N3 40 : show valve

ball position
N thread

Std. | Full Weight| Kv
port | port Txk kg/%b Cv
DIRERDIEGE mm | 11.1521.00/ 6.00/33.00 31.30| 2060 29.000 38.70/ 61.50 150.00 60.0016.00 ‘3 | 6.65/(F03) 36.00 MSX10 0.8 6.9
1" 3" inch 044 083 024 130 124 081 114 152 242 591 236 063 UNF 026 142 1.9 8.0
DLPLEDBIEES mm | 14.30) 20.60 6.00/35.30 32.85/ 24.501 3140 40.30/ 63.90 150.00 80.00 554 3 | 6.65/(F03) 36.00 MSX10 1.2 10
¥s" %" inch = 056/ 081 024 139 129 097 124 159 252 591 3.15 022 UNF| 026 142 26 12
DN\PERIPLIE mm | 2060 21.50/ 8.00/46.90 3735/ 31.701 38.20 5560 7940 187.00 9550 7.54 716 | 740/(F04) 42.00 M5X10 2.1 28
1" 35" inch 081 085 031 185 147 125 150 219 313 736 376 030 UNF 029 1.65 46 32
DLEPEDNPES mm | 25.50) 24.00) 8.0054.00 45.00 41.25/ 19540 212.90 23640 230.00 69.00 7.54 16 | 740|(F04) 42.00 MSX10 32 49
17" 1" inch = 100 094 031 213 177 162 769 838 931 906 272/ 030 UNF| 029 1.65 7.0 57
DNELEDNEPE mm | 31.80 27.000 800 57.80 51.20| 4840/ 43.60/ 73.00 97.00/237.00 113.00 871 €6 | 850 (F05) 50.00 M6X12 4.5 69
15" 1" inch = 125 106 031 228 201 191 172 287 382 933 445 034 UNF 033 197 9.9 80
DNELRIELE mm | 38.10/ 29.00/10.00/64.00 57.15| 56.301 48.301 77.80/101.80/237.00 138.00 871 ‘6 | 850/(F05) 50.00 M6X12 58 102
2" (W2 inch | 150 1.4 039 252 225 2220 190 306 401 933 543 034 UNF| 033 1.97 12.8 118
DNEERIEE mm | 50.80) 30.00/10.00/79.00 66.30| 72.601 70.001 88.10/115.10/237.00 164.00 871 16 [13.50/(F07) 70.00 MBX12 11.1 208
21" 2" inch 200 1.18 039 311 261 286 276 347 453 933 646 034 UNF | 053 276 244 | 241

270 | (EDHABONIM | SANITARY VALVES




11,"214" | DN15-DN65 | CLASS 300

ASME BPE Flush Tank Floating Ball

Components & materials

Item | Description

Material specification Item | Description Material specification

1 Acc. Ordering Code 10 S. Steel 1
b Acc. Ordering Code 1 11 S. Steel 2
A479 3161, B473 N08020, B164 N04400, 1 12 S.Steel !
B574 N06022, B574 N10276, A479 S31254, 13 S. Steel 1
A479 531803, A479 532750 14 S Steel ]
Acc. Order!ng Code 1 {50 Serrated washer  |S. Steel 1
Acc. Ordering Code ] (3 Handle nut S. Steel 1
Acc. Ordering Code 2 A Sleeve PVC 1
PTFE, RPTFE, TFM, UHMWPE, Graphite 2 0 Bolt S. Steel 4
Stem thrust seal  |PEEK, CF PEEK, PCTFE (KEL-F), TFM@ CF PTFE@ 1 1)l Anti-static spring  |S. Steel 1
Anti-abrasion ring |PEEK, CF PEEK, PCTFE (KEL-F), TFM @, CF PTFE® 1 P Anti-static plunger S, Steel 1
Stop pin A582 303 1 vk0 Tag (not shown) | S. Steel 1
Stem seal CF PTFE, TFM, Graphite® 1 * Repair kit components

(1 R47P Series is Habonim's standard valve design without the HermetiX™ stem

seal construction.

** Only with HermetiX™ stem seal

@ This material can only be used as part of the R47P design.

SANITARY VALVES | K‘BHABONlM | 271




ViR 3"-4" | DN8O-DN100 | CLASS 300

ASME BPE Flush Tank Valves

Valve dimensions

| @ Ball port W

\ TxL thread
F PCD

Preparation
for actuation

PN

Stem groove
shows valve
ball position -

N thread--

sdd. | Full | L | Weight Kv
port | port kg/lb | cy
OISR mm | 63.500 34.000 1000/ 8450| 7565 8330 9830/144.90 185.00/400.00/188.00 1590 1890 1'-14 | 16.70 (F10) | 102.00 M10:20 155 1300
3" VIS inch | 2500 1.34| 039 333 298| 328 387 571 729 1575 740 063 074/ UNS2A | 066 4.02 341 | 348
DI EDE mm | 82,600 38.00) 10.00/107.00/ 9240/108.80 114.10/160.70 200.00/600.00/ 226,00/ 1590 1890 1'-14 | 16.70 (F10) | 102.00 1000 260 | 615
4" 3" inch ' 325 150 039 421 364 428 449 633 789 2362 697 063 074 UNS-2A | 066 4.02 572 | 713

DIEOL) mm 10000 4500/ 12.00119.50/ 106,50 123.001124.00/170.50/211.00/600.001 25200, 1590 1890 1"-14 | 16.70| (F10) 10200 M10:20 340 | 744

WSS inch 394|177 047) 4700 419 484 488 671 830 2362 854 063 074 UNS-2A | 066 4.02 748 | 863

272 | (BDHABONIM | SANITARY VALVES




VN 3'-4" | DN8O-DN100 | CLASS 300 IIII

ASME BPE Flush Tank Valves

Components & materials
20

14B
16

Preparation
for actuation

Item | Description Material specification Item | Description Material specification

1 Acc. Ordering Code ([ Follower S. Steel 1
2 End Acc. Ordering Code 1 I Disc spring S. Steel 2
Pad A479 3161, B473 N08020, B164 N04400, 1 (P2 Stem nut 5. Steel 1
B574 N06022, B574 N10276, A479 531254, 'ES - lock washer |S, Steel 1
e 53]8,03' SIERSPIEY (25 Wrench handle A240 316L 1
Ball Acc. Ordering Code 1 VYW 5100 plate S Steol ]
stem Acc Ordering Code ] (258 Wrench head S. Steel 1
Seat Acc. Ordering Code 2 16 [ TE S Steel :
Body seal PTFE, RPTFE, TFM, UHMWPE, Graphite 2 17 s PVC 1
support Ring 5.Steel 1 1£:3 Body bolts S. Steel 6-10
Stem thrust seal PEEK, CF PEEK, PCTFE (KEL-F), TFM, CF PTFE 1 PO Anti-static spring S, Steel P
Anti-abrasion ring | PEEK, CF PEEK, PCTFE (KEL-F), TFM, CF PTFE 1 I Anti-static plunger 'S Steel )
Stop pin 5.Steel ! vEL 1 Tag (not shown) — |S. Steel 1
Stem seal CF PTFE, TFM, Graphite 1

¥ Repair kit components
** Only with HermetiX™ gland packing

SANITARY VALVES | K‘BHABOMM | 273




m
R48 i

ASME BPE Floating Ball 3 Piece - Ordering Code System

"Mandatory option" options are marked with [gréen background! light green background

10 12 13 14 15 16 171819 20 21 222324 . . 30

12 3 45 7 9 11
Ofo] I [al[z) [ -1 6 1[ 6 J[ e [l a [ A I c |/[ETDI]- I
—/ NN A N A Y 2

N
Design Body material Jll Ends material il Ball/Stem material jfliSeat material {l Inner Seal Jll Outer Seal End Connection Special features

End Connection (19-22)
Welded

Size (1-2)

inch

Features (3-6)

Ball/Stem material (13-14)
ASTM A479 S. Steel316L

Code

02 Fire Safe ALLOY-C22 S10) Extended tube OD
03 3" 10 Diverter, Bottom entry Seat material (15) Clamp
05 47 15 Diverter, Side entry Tri-Clamp

07 W' 20 Virgin Peek

Special Features (24-30)
ASME BPE surface designation SF1 -
Internal polishing level of 0.51 p-m,
20 p-in Ra max.

10
15

Inner Seal Material (16)
TFM

1 25 Series (7-8)
14" 40 48

20 2" 50
Design (9) - ASME BPE surface designation SF5 -
" | 1(17
o) 2 2 Outer Seal material (17) Internal polishing & EP level of 0.51
30 3F 80 G p-m, 20 p-in Ra max.
40 4" 100 Expanded graphite ASME BPE surface designation SF4 -

Body/Ends material (11-12)
CF3M
S. St. EN10222-5 Forged
S.St. 316L Forged
ALLOY-C22

Internal polishing & EP level of 0.38
p-m, 15 p-in Ra max.
Valve made from rolled bar

60 150

274 | FBDHABONIM | SANITARY VALVES




